Yearl-Add by making 10 Problem Solving.

Add by Making 10

Add by Making 10

la. Choose a picture card to complete
the number sentences below.
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8 + + 4 = 14
ﬁ;’ + + 5 = 15

1b. Choose a picture card to complete
the number sentences below.
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[ + + 5 = 15
5 + + 3 = 13
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2a. Tom has vsed a part-whole model to
show 5 + & by making 10.

Is he correct? Explain why.
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2b. Jan has used a part-whole model to
show 4 + 8 by making 10.

Is she correct? Explain why.
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3a. Jen is solving 7 + 5.

| need to add 3 to make 10
and then | add 5.
So7+5=15.

Find and correct her emors. Explain your
reasoning.

3b. Ben is solving 3 + 8.
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| need to add 7 to make 10
and then | add 4.
So3+8=14.

Find and correct his emrors. Explain your
reasoning.
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